This page was exported from - Easily Pass By Training L ead2pass L atest Dumps
Export date: Mon Apr 21 13:38:29 2025/ +0000 GMT
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Lead2pass 2017 August New Cisco 200-150 Exam Dumps! 100% Free Download! 100% Pass Guaranteed! Are you struggling for
the 200-150 exam? Good news, L ead2pass Cisco technical experts have collected al the questions and answers which are updated to
cover the knowledge points and enhance candidates' abilities. We offer the latest 200-150 PDF and V CE dumps with new version
V CE player for free download, and the new 200-150 dump ensures your 200-150 exam 100% pass. Following questions and
answers are all new published by Cisco Official Exam Center: https://www.lead2pass.com/200-150.html QUESTION 31What is the
minimum number of fabric modules that should be installed in the Cisco Ne*js 7000 chassis for N 1 redundancy using MI-Series
linecard?A. 3B. 4C. 5D. 6Answer: A QUESTION 32Which address and subnet combination is valid for a host assignment?
A. 172.23.175.210/15B. 10.100.74.127/25C. 192.168.73.223/29D. 10.230.33.15/28 Answer: B QUESTION 33Refer to the
exhibit. What two conclusions can be mode based upon the output? (Choosetwo.) A. regular fromat WWNs are being usedB.
the command show flogl database was runC. the command show fcns database vsan 1 wasrunD.  registered name formate
WWNs are being usedE.  extended format WWNSs are being used. Answer: BE QUESTION 34A customer requires two separate
physical pathways between multiple initiators and multiple targets. Which technology meets this requirement on a single Cisco
MDS9148 switch? A.  zoningB. port securityC. LUN maskingD. VSANsAnswer: D QUESTION 35Which device does a
network engineer use to break the network environment into smaller collision domains? A.  switchB. routerC. hubD.
repeaterE. CSU/DSU Answer: A QUESTION 36An engineer must copy anew configuration to a Cisco Nexus 7010 Switch from a
TFTP server. Which two commands should be used to retain the configuration after areboot? (Choosetwo.) A.  write memoryB.
copy running-config startup-configC. copy tftp://10.10.1.1/my-config running-configD.  copy tftp://10.10.1.1/my-config
startup-configE.  write erase Answer: BC QUESTION 37At which layer of the OSlI Model is TCP traffic encapsulated? A.
transportB. data-linkC. presentationD. application Answer: A QUESTION 38Which two hosts are part of subnet
172.16.160.0/20? (Choose two.) A.  172.16.168.0B. 172.16.176.1C. 172.16.160.255D. 172.16.160.0E. 172.16.176.255
Answer: AC QUESTION 39Which command should be used to determine which hosts are Fibre Channel targets? A. MDS-A#
show host databaseB. MDS-A# show flogi databaseC. MDS-A# show fens databaseD. MDS-A# show host-id Answer: C
QUESTION 40Which two options are benefits of deploying FCoE beyond the accesslayer? A.  higher throughput compared to
native Fibre Channel switches.B. FCoE cannot be deployed beyond the access layer.C.  reduction in equipment requirements.D.
improved security compared to traditional Fibre Channel.E. increased application support. Answer: AC We ensure our new
version 200-150 PDF and V CE dumps are 100% valid for passing exam, because Lead2passisthetop IT certification study training
materials vendor. Many candidates have passed exam with the help of Lead2pass's VCE or PDF dumps. Lead2pass will update the
study materials timely to make them be consistent with the current exam. Download the free demo on Lead2pass, you can pass the
exam easily. 200-150 new questions on Google Drive: https://drive.google.com/open?d=0B3Syig5i8gpDbUFV ZERzemRpeEU
2017 Cisco 200-150 exam dumps (All 106 Q& As) from Lead2pass: https://www.lead2pass.com/200-150.html [100% Exam Pass
Guaranteed]
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